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Enter your Name and Roll Number correctly in the OMR answer sheet.
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The written test will be of objective type based on the qualification prescribed for the
post with four answers indicated, of which only one will unambiguously correct.
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You have to select the right answer by marking the corresponding oval on the OMR
answer sheet as per the instructions given in the OMR answer sheet.
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Correct answer carry one (1) mark each; Zero (0) for no answer and minus zero point
twenty five (-0.25) for a wrong answer.
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Multiple answers for a question will be regarded as a wrong answer.
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Marking in OMR may be done with utmost care. No spare OMR sheet will be provided.

ﬁ@ﬁﬁﬁﬁﬁﬁmmm@ammmmm
SUHYUTT, ST G, ACH e, ame & Al et & e

Computers, Calculators, mobile phones, reference books, logarithm table, electronic
gadgets etc. will not be allowed inside the Examination Hall.
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Space available in the Question Booklet can be used for rough work, if required. No
separate sheet will be provided.

qdieT g gl W, (1)tﬁﬁz‘rw§3¢rﬁ;ﬁaﬁwﬁmmww(2) WTHIN 3l
e A 97 rede fEe & er &€ o AR He NTHIN el e e
ar diT & 3T gedleee ufer AT @ A S R e

On-completion of the test, (1) Hand Over Written Test Call Letters with photograph
pasted on it (2) tear the OMR answer sheet along the perforation mark at the top and

hand over the original OMR answer sheet to the invigilator and retain the duplicate
copy with you
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Candidates are not permitted to leave the Examination Hall during the first one hour of
the examination. )




AR ‘B’ (F&s/eiex) & ug & @ adiar
Written Test for a1 ‘B’ (Carpenter) A
U4 U hleh C/25001-A Question Paper No : C/25001-A
AR dH 3 100 HfRIdhdH 3 ; 1.5 gar
Maximum Marks: 100 Maximum Duration 1.5 hours

T 591 fafET : Write the correct Answer:

1, wars fope gats f Ay Sy &7

1. Length is measured in which unit?
3/a  d@ic/Watt gb ®I/C
wic TR/ mm z/d g 3 & U M1 76T / None of above
2. 1 m @ cm 3 mm F TG 47 @1 &2
2. What is conversion of 1 m in to cm and mm?
H/a 1m=100cmand 1 m= 1000 mm dg/b 1m = 10cmand 1m = 1000mm
hic 1m =1000cm and 1m = 100mm g/d 1m = 1cm and 1m = 10mm

3. FTshI 3R e 3 Far a7

3 What is relationship between micron and meter?
H/a 1 m =100 micron g/b 1 m = 1000 micron
@hlc 1 m =10 micron s/d 1 m = 10000 micron

4. 10 cm #arg R 75 mm ISTE arel A &I &TEthel (TRET) Tl

4. Area of rectangle having Length 10 cm and Width 76 mm is
Ha 750 cm’ b 75mm’
®lc 750 mm? gld  750m’

5. THYS FBIoT A & Gt wared et §-
5. Equilateral triangles have equal values of
la @ HOT/ All angles ab  H ST / All sides

@lc  3UYW 37 3K @ &1 / both of above a and b z/d gaTd O Ueh ¥ 74l / None of above

8. 2 cm SATH & g &I A6 &T GIIm?
6. What is the Area of a circle with diameter 2 cm?
3a 10w mm? b 100 = mm?

&lc 10 ncm? z/d 100 = mm

7. 5cm x5 cm x 5 cm & WS & el Bl 0T aa i hIaTd & aift? g3 10 Rs/em?’% |

7. What is total cost of painting a wooden block 5 cm x 5 cm x 5 cm. Rate is 10 Rsfcm?.
Hl/a Rs. 1500 dg/b Rs. 150
Hlc Rs. 15 g/d 57 # O wen ot A1 / None of above

8. HIA AT HT G5 eclis Terel & SToa) T Thsdr 8, Ffh
8. Same size wooden block catches fire faster than steel because
3fa  &A Ysded g / lower ignition point

dg/b &hd "eldl / lower density
wlc  3NAS & 91y 3T oTd / Its higher affinity to oxygen
g/d SCHT dTgehl / thermal conductivity

1 C/25001-A
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BRU= ahITT 3 dehs & Tl 3 3T T & awh 3T Jid Tad Saal #21 6 Toh @7
There is fire in stock of woods at carpentry workshop. What immediately best you will do?

H UTeR &g Y 3R 31197 & Bl & ofd) gu 317 QMmareh o Suior

a Switching off power and using in-house CO, Fire Extinguisher on beginning of fire
q BIR §$geC ¥ 3¢9 g1d dTel Ulell & fordl Hiiars &iot
b Taking actions to use pressurised water from fire hydrant

@/ 31T g2re) o Torr 3117 Qmaveh gef ol gerdar
c Calling fire fighting team to fight with fire

T U &1 7S Al TS a, b 30 ¢ B et F pLay
d

Immediately doing all three of above in order a, b and c.

10 cm x 10 cm x 25 mm &A1Y dTel TH &1 g3 <ellch T Totel &1 §lan? (B : 0.74 glec)
What is the mass of a Burma teak wood block of 10 cm x 10 cm x 25 mm? (Density : 0.74 g/cc)
3la 185 gm d/b 185 kg

&ic 18.5gm z/d g & O ud M1 A8 / None of above

50 mm IR B 31X 10 cm Fars arel g @1 e fhdar grom?

What is volume of a cone having base radius 50 mm and height 10 cm?
3Ma  83.33amm’ ab  833.3amm’

Flc  8333mcm’ g/d 83.33 n cm®

us FAor Y o3l & AT 3 em, 4 om 3R 5 om & | BT T YR Tdrsl |
Sides of a triangle are 3 cm, 4 cm and 5 cm. Which type of triangle is this?

Hla  wiFgarg 0T/ Isosceles Triangle alb  weraTg F®iv/ Equilateral Triangle
@lc  HHDBIU AT/ Right Angle Triangle  8/d 3 3 & U #l ¢ / None of above

Teptor & goft erolt &t AT T |
Sum of all angles of triangle is ;
3/a 180 d/b 60
&hic 360 g/d 120

A ABC #, mZC = 60°, m/A = 30", AC = 100 mm. F¥eI0T & &1THel &
In A ABC, m£C =B60°, mZA = 30°, AC = 100 mm. Area of this triangle is

3fa 25(N3)/2 mm? b 25(Y3)/2 cm?
@l 25(3) cm? s/d  25cm’

Frepror 3 ford o @ -

For triangles which equation is true?

3/a sin’0 +cos’0 =1 ab  sec’d-tan®0=1
Eale cosec’0 - cot?0 = 1 2/d All of the above

g1t § Topg greall (FORe) &Y gdar 498 &H §7
Density of which material is lowest?
la  ABes Trel / Mild Steel alb &1 g3 / Teak Wood

&fc TegATAGH / Aluminium g/d AT g / Plywood

fe3 T g5 Tl Y WAL (F29) ......... gRI AT HT ST § |

Strength of given Wooden stock is decided by its

3a  @drs/ Length gb e / Width

Flc  @Ig QFF 87T / Cross Sectional Area &/d 2o 31 9 uah o1 77 / None of above

Yod Ty 3 R SR (3) &1 SEAATA Bl 2
Which wood is used in Railway Sleepers?
3/a  @rel/ Sal ah dIE / Teak

dlc 313 / Mango g/d gder / Deodar

2 C/25001-A
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g SNSCH 31 Ty B TST AT o el & Tordl oy apT SUlar 1 &2
On wooden joints to tighten or loosen the screw what is used?
3rfa wAldY/ Hammer g/b  Tp aEat / Screw driver

wlc N3N aaEi/Bothaandb  3/d 3 3 A Ud I A€/ None of above
anfeifaier ar 0fEEe @ uge, ged T &Y Had IfRT A .. ¥ T fhar Srare|

Before varnishing/painting, for last smoothing of a wooden surface is done by
3fa s UYL/ Sand paper /b TR / Scrapper

@fc el (RsTe) / Chisel z/d SR Tel (3=al) / Jack plane

arer dveor (A1G) 317 cafia Tiverms & ford v 3l (@) &1 3T R SiTar &7
Which saw is used to cut internal and external sharp and quick curves?
3/a AT E () / Coping saw /b I e HI / Cross cut saw

%lc gl T/ Dove tail saw g/d UoTol |1 / Panel saw

foper 3NTR &Y F1ee @ gea N &) 3ER Rar Srar § a1 Ty fhar smareg?
Which tool is used for smoothing or shaping wood pieces?
3/a & (Rster) / Chisel ab & (3 Hand saw

Hlc i Tl (Twal) / Jack plane z/d g7 3 ¥ udh Y A€ / None of above

T R Gale (X Te[5T TXHH) a1l & Ford R T &7 Wi il 2
To prepare rough gluing surface on wood which plane is used?
3ffa T A (T=eT) / Smoothing plane @b ¢TI Cale / Trying plane

@%lc TS ol / Plough plane g/d et Teret / Toothing plane

g5 adh O 3, Ueh R W FATe -3¢ 1@ fhd @ 9ard §7

Layout lines parallel to one edge of wooden work piece is made by?

3la T Tl / Steel Rule glh AT AT / Marking Gauge

@lc TS99 ¥l / Zigzag Rule g/d AR &T / Measure Tape

g TG &Y TR g & Sy S &7

Squareness of a wooden surface is checked by?

3a @ Tl / Try square g/ @reafddd e / Collapsible Rule
®ic  Wifesd el / Folding Rule g/d & 3 A U 1 AT/ None of above
210 T fore AART A a1 ST §7?

Try squares are made of which material?

3/a g3/ Wood d/b uegfAfaaar / Aluminium

®lc  TATEed / Plastic g/d TTees (TEd) ¥rel / Hardened Steel

TS 7§ Prel Rrererat & forw 30 wlET (FR) & ST AT § |

To remove the nail from wooden block, this hammer is used.

3a  EEe U #a / Straight pen hammer /b a@ U4 R / Ball pen hammer
Plc Folld &8 / Clove hammer z/d I U= TR / Cross pen hammer

zaa A forg 3 (@) o DS A o Ra el 872
Which cne of the following saw is having a rib on its back?

a3 T (3 / Hand saw glb &A= 1/ Tenon saw
@lc I AT/ Coping saw z/d e/ Feat saw

TeT & 37ex FRratel & fon o191 ahl e aiar €2
Which part of the chisel is fixed inside the ferrule?

3f/a &9 Tang b tweel /Handle
Hlc =5/ Blade z/d 2e7 31 § U &7 A% / None of above
3
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forg et &7 Aol & a1y walt ot SEaTe Tl i o7

Which chisel should never be used with a mallet?

3fa WX RIS / Firmer chisel a/b 9151 fRIstel / Gauge chisel

@lc  Hleiss Rster / Mortise chisel g/d  URer Rster / Paring chisel

Rster &Y eo¥s 38 Urg A e Sl §,

Metal is used to make the blade of the chisel is

3/a & Tl / Carbon steel a/h T T / Stainless Steel
Fc Wi Tl / Forged steel g/d @IS B Fhol / High carbon steel

TR Gt ol SUANIT STee Ud Siid U% gedwhR e ¥ el &7
Which tool used to check and transfer on the job?

3Hlfa o4 TFT/ Bevel square gb &S TR/ Try square
@ic  HEX T/ Miter square g/d a1y / Divider

g3, falar, ard A, dex @ & ford 38 #AM &1 SEAATS QT &
Machine used to cut wood, composition board, Veneer, Plastics, chard board, Leather is

Hla  UETd Felfdgd HaYeR &3 A / Portable electric circular hand saw
/b Uiéae d@sX/ Portable Sander

F/c WA saildgd [T 61 / Portable electric jig saw

g/d  Uiédd Selfded UscX / Portable electric Router

TeIaT harary & 9T (UTT) a1 o Tl by #HERS 1 SEdATS Blam 872
Which material is used to make the legs of wing compass?
3/a  HIEC AT / Cast iron ab ¥/ Steel

@/c @S YS / Hard wood g/d  didel (71¥) / Brass

Felle &1 ater$ Aua ¥ 50 dhelu T 3uN9T Aar &
The calliper meant for measuring the width of a slot is

/a3 HES dellU / In side calliper /b 313 o9 hellut / Odd leg calliper
Fic 313 T1SS HellX / Outside calliper g/d ST tellut / Jenney calliper

cafta aféar &g fora deliux &1 suhor gdr &2
Which calliper used for quick setting?

3fa B Sigee BelluX / Firm joint calliper @b S dhelUT / Jenny calliper

Flc U SNEeC hellul / Lap joint calliper z/d  Toyer Shisee helluX / Spring joint calliper

e I ot A W, g U & o &rm wiwHvIE gl 62
In given statements which one is not an advantage of a wooden pattern?
3da U GEAT AT & TUT 3TETET ¥ SUSEY @ ST & / It is cheap and easily available

alb @ e @ Ry 3nert # Bemsa fvar S @war & /1t can be shaped easily into different

form a designs
Fic T FFAG BT YeA: SUANT 37 Fordn ST Gevedl &/ It can be repaired and reused

zid gAY Fr BrHT eT WAl I 377 Bidt & / The cost of workmanship is more than

other materials.

g3 el Ay W el 76 TR e & fordy suanfy fisrd §-
The chisel used for cutting rough surface quickly for turning on wood turning lathe is
3la  HIT STl / Firmer chisel ab T RSl / Gauge chisel

@®lc T TsTel / Skew chisel Z/d FTeTsT Teratel / mortise chisel
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318y (&) @ ot g & Ford fee ardw v suaar TR Sirar §7?
Which vice is used for sharpening the saw?

3/a @Ay / Saw vice glb  @riee arsy / Carpenter vice
®lc IR FT / Bar clamp gid  HT-@eid / C-clamp

Corrg s A Rl O (AR) B R Hed 87
Which layer is called “core” in ply wood?
3fa  W1ES I/ side layer /b T e/ top layer

Hlc  aleH oA [ bottom layer g/d fAse e’ / middle layer

fopg AoTTier ool 3w arar Us U A1 T idl 87
Which measuring rule is having sliding end piece or stop?
da T &/ steel rule /b dofcuad &7 / collapsible rule

Tic  AFWIE T/ measurement tape g/d e el / foot rule

o2y 7T el F @, o g & o i a1 wmeIne e 87
Which one of the statement is not an advantage of ply wood?
Hla  Tg (&ge S d Tl @ e @ Se / It will shrink and warp easily

b sy AT T a2 HTHR A Wl & / It is manufactured in very large size
Fle  TE ol aidT & / Itis lighter in weight
Z/d = UL AN A SR AT AR Ud B A S Gendr §

It can be easily worked and bent in shaped and designs

TS are 3 Fordr ater @ 3rdY () T ST e §?
Which saw is suitable for curve cutting?
3/a @ He A/ Cross cut saw gb  feaAa @Y Tenon saw

w/c  RUdEr/Rip saw g/d  HEUrd Al / Compass saw

o 3 O i T, Y IO Terer 6 AW b et I AL &7
Which one of the sawing operation is not related to circular saw machine?
3ra  Rudl/Rip saw glb  #ATEes Hiedr / mould cutting

wlc [T FET / Miter cutting g/d  IE HEIT/ cross cutting

o) g Y Ty e & T foh gt @t sueT el §?
Which of the tool used for testing the straightness of large surface?
3tfa  Tlel &l / Steel rule glh T TIAL/ Try square

Filc  Te TS/ straight edge z/d $Z &l / Foot rule

T A B 9T TR Y EHY B & o RRE W 1 ST Rl ST &7
Which file is used for smoothing the roughly prepared surface?
H/a  sdei@e Wiad / Double cutfile @b f¥arel dhe Wwiset / Single cut file

Fc YU HSd / Raps file g/d  grIWIER WIS / Triangular file
qes e % TrT U ol Plet-TT 7197 T S g &

Which part of the tree is mostly useful for carpentry work?
3/a %< s / Heart wood akb  dugs/ Sapwood

&/ @Il / Bark g/d 315 / Root

T ST Tk w2lET Y el B Ut ST &2
How to hold the hammer handle while driving the nail?
3/a  tzor & g T/ Middle of the handle

o Eza @ oars & ael 8 H1/ Anywhere in length of the handle.
wlc LB & oY &5 & U ¥/ Near the hammer head of the handle
z/d ¥l & 370 O/ End of the handle

C/25001-A
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ITeT e IS of &l I §-

The angle of single cut file is

Hla 65° d/b 70°

Eale 75 g/d 80°

gl # O i Bp DT ATH AT &7

Which cne of the following is gives the name of the screw?
Hla  Felic/ Slot ab 93/ Thread

@e 5/ Head z/d 9% / Shank

O & &7

What is pattern?

Hla  Fsa & ufdgfa a1 3G /The replica or facsimile of model
/b FMT @I Yeef / The pattern of machine.

@/c  EIECIT / The casting

g/d RS A wIffier A58 / Farming mould in sand.

Ueel Aed §RT 991 Y U Rl SO T &7

What is the use of pattern prepared by the pattern maker?

Hla UG DS GRI TS 7S a¥ & / It is an object made by wood

/b HI5es ¥ UT US SFIUA BIH Tl / Farming an impression on mould sand
@lc T HIE3 HIEEIT UEJd T / To produce a sound casting

g/d  forelt 6 oft Atse wIfdeT / Farming the model of anything

UTeT &7 TR T 21T &2

What is the size of pattern?

teeT T TR TSI & AR A IHel9T el &

The size of pattern is different than size of casting

Bt T TR HITECIT Y AT F 2T o Bl &

The size of pattern is slightly less in dimension than the casting
Yoot &7 AT HIfEET & AT Bl &

The pattern is equal dimensions of casting

e & TR ITEEaT &y ATT T 2eT a8r el &/

The size of pattern is slightly larger in dimension that the casting

o W o 5 o0 e 0 W

Oea AR B aiay 7 & 1S S1de T ot @ ar sueT €2

What is the use of providing dowel pin in pattern and core box?

a  Ued, I aiar &Y FET ST 9T TaTsasic &l / Slit the pattern, core box and keep alignment

/o Uea SiisaAT/ Joint the pattern.
w/c e f3wded @A / Dismantle the pattern
z/d  tee @ @HSA T/ Support the pattern

Follel YIS & ford g7 & Toher H190a &1 3T &l 7
Which one among the following medium is used in kiln seasoning?
3/a Ui/ Water b 19 &a@1/ Hot air

@/c  THRIE / Chemical zid 3T/ Smoke

fopy Vet 3, Tales eael 3 oM SUT o 71fa) el 72

In which sander the shaft moves up and down through the slotted table?

fa  fEd H2X/ Disk sander alb TUgof 3T / Spindle sander
wlc  3H YT/ Drum sander g/d doe W3 / Belt sander
6
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HITHT Tt & REE AT &1 39T g5 3F g AR dt & fod gl ?
Which part of the marking gauge is used to mark lines on wood?
3/a  d9T /Beam /b ¥cid / Stock

®lc  UFF L / Thumb screw z/d TR 31yar U< / Spur or pin

0t T et forg 3 W ewely 31 wrer fErelt 78 8, 39 e
A trunk of tree with branches cut off and bark removed is known as:
3H/a @07/ Log albh  ded / Bulk

wic  UrEc / Post 3/d Teles Plank

AFHIT 3 3 3, Ga aGd (SICH Cellewh) WX Rhd Sigee T ST gl &7
Which type of joint is used in bottom of packing case?
J/a  HANCSH Ud e sarse / Mortise and tenon joint

g fosd sase / Bridle joint
Flc  <IUs I sarse Tongue and groove joint
z/d  TW T sarse Half lap joint

W%wﬁmﬁﬁrmﬁamﬁ%ﬁaﬂéw@mﬁmmﬂ(mﬂaﬁa)ﬁm%z

Thin internal wall constructed inside the building to divide the space in to rooms is:

3/a G/ Floor b  Oigr/ Stair
wlc  [aHTSS / Partition g/d @d ! Roof
3 & @ T B & A dasy |

Give the name of screw shown in figure.

3fa WPV ¥3 $U Hf Hexagonal head Cap Screw
gl dihe 83 HY Ef / Socket Head Cap Screw

®lc NS o5 BT T / Cheese Head Cap Screw

g/d  C'sk %5 T /-C'sk Head Screw

ferw T o 3 Ao Y 3rfeeH dEar
Maximum no. of squares in the given figure is
Hla 9 d/h 13

@i 14 2/d 10

gﬁegaﬁtmmzﬁrmaﬁﬁ%

We can reduce the fire by removing this
da 3G / Oxygen ab AT/ Heat

®le U/ fuel zid  3a @ @S o/ Any of above
SS304 H§
SS 304 contains
3la 8% Cr, 18% Ni dg/b 18% Cr, 8% Fe
@ic 18% Ni, 8% Fe 3/d 18% Cr, 8% Ni
AT B P o
The unit of density is:
Jla  cmigm’ g kg/m®
@c  gm/m gld z:737 § wa oY A7€1 / None of Above
7

C/25001-A



66.
66.

67.
67.

68.
68.

69.
69.

70.
70.

71.
71.

72.
72.

73.
73.

74.

75.
75,

o 3t e a1w Ot & et A PITST] p=10 gmiem?®. (n= 22/7)
Find the weight of the part shown in figure. p = 10 gm/cm®. (n = 22/7)
AT, G AT mm 3 f&U 9T ¥ | Note: All dimensions are in mm.

Hla 23.22 gm d/b 232.2 gm
®lc  23220gm g/d 34 W UF H 81 / None of above

3 gotal ¥ Erd) 9 e gg AR ad) g$ & frar o wror gem-
The angle beween small hand and big hand at 3 hours is
H/a 90° da/b 0°

@/c 180° 3/d 270°

7 # e M 3R & g A fifsw|

Find the perimeter of the shape shown in figure.
T @H ara mm # U 9w # | Note:All dimensions are in mm.

a3y 300 mm g/b 170 mm
&hlc 200 mm z/d 110 mm

o & R 73 3maR & e (TRan) Jd SIS (x= 22/7)
Find the area of the shape shown in figure.(r = 22/7)
a1, gH A1a mm # f&u e ¥ | Note: All dimensions are in mm.

3F/a 12600 mm® @b 20300 mm?®
%lc 7700 mm? z/d 3e7 3 T T 97 FET / None of above

afe; ol st oT 2rer 100 &, & 120 %, @ 971 A A 7 fohctat % b aghell g8 2

h42

If the prize of an item is increased to Rs 120 from Rs. 100, the % increase is?

Hla 33.3% da/b 25%
hic 20 % g/d 30 %

1000 %. WY 6% 4Tt &4 UT 2 HTel & o) |el st & @t 1ol -
The simple interest for the amount of Rs.1000 at 8% rate for 2years is:

3la Rs. 30 d/b Rs. 120

dhifc Rs. 300 ds Rs. 240

Hfdor &y afa S A afa @ HEIEY

Speed of reaming is than drilling speed.

H/a &H [ less d/b Sg1eT / smaller

®lc  FHAA/ equal g/d g3 @ T HY A€ / None of above

TareddaRds 12mmed RE

In three start thread, if lead is 12 mm then pitch is:

Hla 4 mm da/b 3 mm

e 6 mm 2/d 12 mm

sin 90° = .

Hla 1 /b 0

Byle 0.866 3/d 0.707

gard O fopg HAONT | ST 91T i 872

From which material tap is made?

3la €IS @G TN [ high carbon steel glb @I A / castiron

®lc  AUfAE /equal z/d a8 @/ All of above
8
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76.  daarswd, Bp & S0 $H YHR & 0T (93) g ¥

76. This type of thread is given on the screw of bench vice.

Wa @il (ThRaT) / Square ab AV

wlc AT /B A g/d 38 ¥ uE i A& / None of above
77.  @raY (didn) 3R SiE & i arg &
77. The alloy of copper and zinc is:

3a  didd / Brass alb AT / Bronze

®/c I HAeol / gun Metal z/d A4 § UH o AL / None of above
78. 1kg= r33 (Lb) |
78. 1kg= pound (Lb).

H/a 0.2 d/b 0.22

&l 2.2 z/d 1.4

79 H.S.S. 3 e [y ued &
79. Main alloying element in H.S.S. is:
Hfa  TIEA / Tungsten a/b  @Iul/ Copper

#ilc  Tod / Zing g/d T (9g) [/ Leade
80. Tl & TRY YOI T AT A &
80. Sum of four angles of square is:

3/a 80° d@/b 180°

hic 360° 2/d 270°

81. - Fehd I FATd &

81. —~ is the symbol of:
3fa  HHJA / Flatness ab  GHGAT/ Parallelism
@lc  wddi / Perpendicularity z/d I 315¢ / Run Out

82, sgugha a1 #Mex & T -

82. The equivalent of 1 meter in the inch system is
3/a 39.37" /b 36"
@l 0 g/d 37.39"

w83 T 90 % A, R 1 3 R 7R g3 Siisee & UHR & §E S aard:

From Question 83 to 80, match the parts from the fig. 1 of Types of wooden joint.

83. T Slige¢ / Lap Joint

3/a A g/b D
&ic F g/d €

84. 22) / Dado
3H/a C a/b B
&hlc H z/d

85.  #HIeTSel ud &34 / Mortise and Tendon

H/a E a/b B
&lc F 3/d D

86. @1 3iR 9 / Tongue and Groove gsr 83 ¥ 90 ¥ o g 1
Hla G alb E Fig. 1 for Q-83 to 90
&hlc D z/d B

9 C/25001-A
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Rough Work

6 B

87.  gacd/ Dovetail
H/a D /b A
& H g/d E
88. 3 TCATSA & @Y #eX / Miter with Wood Spline
3Ma B d/b C
& E g/d G
89.  2Ides ¢ iS¢ / Doweled Butt Joint
3/a G g/b C
@hic A g/ D
90.  ¥dT/Rabbet
Hla H d/b G
WHic G 5/d D
U &I 133 &1 30T {6 S & o1l T Tohd § |
You can use the side space of paper for rough work.
10
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